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QUESTION 1
What is a basic assumption for an architect using the HPE Servers TCO calculator to justify a
customer's migration away from a fully depreciated set of hardware?

A. By analyzing the project's internal rate of return (IRR), it is possible to determine if the lower IRR
will make it more desirable to undertake the project.

B. When the customer's older systems are under a support contract, a new system can sometimes
pay for itself simply by not renewing the older support contracts.

C. The Net Present Value (NPV) is the difference between the value of the older systems and the
cost of the new systems.

D. The opportunity costs of not migrating from a legacy environment to an HPE Converged
Infrastructure Solution, in terms of IT Efficiency and User Productivity, will always justify the
purchase.

Answer: C

QUESTION 2

A customer has a large Oracle-based ERP solution that runs on HPUX and multiple rx2800 i2
servers. The customer plans to move to an open source solution to reduce operating expenses.
The customer needs the ability to deliver incremental capacity and needs to avoid incremental
Oracle licensing costs,

Which HPE Server solution will help meet the customer's needs?

HPE Apollo 6000 System

HPE Superdome X

HPE BladeSystemc7000 with BLA60G Gen9 Servers
HPE Apollo 4500 System
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Answer: B

QUESTION 3

An architect is planning an HPE Moonshot System solution to support a data analytics
application. The application uses data mining.

Which type of rack configuration should the architect recommend?

A. a configuration that balances the ratio of HPE Moonshot Systems to HPE Apollo 4200 servers,
which store the data

B. a configuration that has a higher ratio of HPE Moonshot Systems to HPE Apollo 4200 servers,
which store the data

C. aconfiguration that has a lower ratio of HPE Moonshot Systems to HPE Apollo 4200 servers,
which store the data

D. a configuration in which the HPE Moonshot System hosts the analytics application and the data

Answer: A

QUESTION 4

An architect proposes an HPE Moonshot 1500 chassis with m710p cartridges, an HPE Moonshot
45XGc Switch, and an HPE 4-QSFP+Uplink Module. The customer informs the architect that
each cartridge requires a redundant 10GbE link.

How should the architect change the proposal?
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Add another FlexibleLOM adapter for each cartridge.

Change the HPE Moonshot 45XGc Switch to an HPE Moonshot 180G switch.
Add another HPE Moonshot 45XGc Switch and 4-QSFP+Uplink Module.
Change the 4-QSFP+Uplink Module to a 16-SFP+ Uplink Module.
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Answer: A

QUESTION 5

An architect is designing an HPE Apollo 6000 solution to support an HPC application that is
highly parallel and involves a lot of communication between compute nodes. The architect is
choosing the FlexibleLOM options for the compute trays.

Which technology should the architect ensure that the trays support?

VXLAN offloading

Fibre Channel over Ethernet (FCoOE)
RDMA over Converged Ethernet (RoCE)
iSCSI hardware imitator
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Answer: D

QUESTION 6

An architect proposes an HPE Moonshot server solution for a customer. The customer needs a
single processor solution with a network switch to allow 10Gb connectivity and support for a
software-defined network solution.

Which HPE Moonshot switch module meets the customer's needs?

180G Switch Module
45Gc Switch Module
45XGc Switch Module
45G Switch Module
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Answer: C

QUESTION 7
What defines lease rate factor (LRF)?

the sum of all costs incurred

the periodic rental payment, expressed as a percentage of equipment cost

the cost of the direct capital expenditure, divided by the expected lifespan of the equipment
the expected time to recover the initial investment
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Answer: B
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